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IV Semester B.Com. Examination, April/May 2012
(Semester Scheme)
Commerce
Paper — 4.4 : FINANCIAL MANAGEMENT

Time : 3 Hours Max. Marks : 90

Instruction : Answer should be completely either in Kannada or in English.

SECTION-A

1. Answer any ten of the following. Each question carries two marks. (10x2=20)
a) Mention any four functions of Financial Management.
b) What is trading on equity ?
c) What do you mean by capital structure ?
d) What is stable dividend policy ?
e) What is meant by time value of money ?
f) What are the objects of cash management ?
g) Mention the costs incurred in receivable management.

h) Profitability Index : 1.1235, P.V. of cash outflow Rs. 2.00,000, P.V. of an
annuity of Re. 1 for 4 years at 10% discount is 3.159. Find out the present
value of cash inflow and annuity cash inflow.

i) What is profit maximization ?
i) Whatis bonus issue ?

k) Costof plantis Rs. 1,00,000 and cash flows for the first 3 years are Rs. 10,000,
Rs. 40,000 and Rs. 60,000. Express the payback period in term of years.

) Initial investment is Rs. 3,00,000, scrap value Rs. 50,000, working life
5 years, additional working capital Rs. 25,000. Calculate average investment.
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SECTION-B

Answer any five of the following. Each question carries five marks. (5x5=25)

2.

The terms capitalization, capital structure and financial structure, do not mean
the same. Explain.

Explain in brief limitations of capital budgeting.
Discuss the sources of credit information in receivable management.

The following information is available in respect of a product :

Units sold : 1,80,000
Unit's sales price Rs. 5
Fixed cost : Rs. 2,40,000

Variable cost per unit Re. 1
Tax rate 50%
10% debt capital of Rs. 6,00,000

Calculate operating leverage, financial leverage and combined leverage.
Examine the need for financial planning.

State the criticisms laid against ‘profit maximization’.

Briefly explain the different types of dividend.

What are the consequences of holding excess inventory ?

SECTION-C

Answer any three of the following. Each question carries fifteen marks.  (15x3=45)

10.

11.

Explain the advantages and disadvantages of Bonus issue.

What is working capital ? Describe the need and determinants of working capital
in a firm.
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12. Afirms cost of capital is 10%. It is considering two mutually exclusive projects X
and Y. The details are given below :

Project ‘X’ Project‘Y’

Year Rs. Rs.
Investment 70,000 70,000
Net cash flow 1 10,000 60,000
2 20,000 40,000
3 30,000 20,000
4 45,000 10,000
5 60,000 10,000
1,65,000 1,40,000
Compute :
Payback period
Net present value

P.V. Factor at 10% for 5 years
Year 1 2 3 4 8
P.V.Factor @ 10% 0909 0.826 0.751 0.683 0.621

13. Calculate the average rate of return for projects A and B from the following :

Project A ProjectB
Investments Rs. 2,00,000 Rs. 3,00,000
Expected life 4 years 5 years

Projected net income (after interest, depreciation and taxes)

Years x 1 2 3 4 5
ProjectA : Rs.20,000 15,000 15,000 10,000 -
ProjectB : Rs.30,000 30,000 20,000 10,000 10,000

If required rate of return is 12% which project should be undertaken ?
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14. The existing capital structure of ABC Ltd., is as follows :

Equity shares of Rs. 100 each Rs. 60,00,000
Retained earnings Rs. 15,00,000
9% Preference shares Rs. 37,50,000
7% Debentures Rs. 37,50,000

The company earns 12% on its capital. The income tax rate is 30%. Company
wants to raise Rs. 37,50,000 for its expansion project for which it is considering
following alternatives :

1) Issue of 30,000 equity shares at a premium of Rs. 25 per share.
2) Issue of 10% preference shares.
3) Issue of 9% debentures.

Projected that the price/earnings ratio in the case of equity, preference and
debentures financing would be 20, 17 and 16 respectively.

Calculate earnings per share and market price per share.

1. cOnYmoRe10 TINOR LUBOR. B3 TI7 2 08N, (10x2=20)
a) "'DeIToRd ABF T O DL, FODF YR PR,
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